
=LPDB����

*UXSD�5R]NãDG������%1�0����Z���7\J������
3

Q
:

W

�������������7\J���������
������������

=DJURĪHQLD�PLOLW��L
SR]DPLOLW�
ZVSyáF]HVQHJR�ĞZLDWD
�:�� GU�KDE��1LHGĨZLHFNL
5\V]DUG�=%���������%1�
0����&������%1�0����
&������%1�0����:�����
%1�0����Z������%1�0�
���Z������%1�0����Z�

�������������7\J���������
���������

3ROLW\ND�L�VWUDWHJLD�EH]S�
QDURG���Z��SURI�
&LXSLĔVNL�$QGU]HM�=%�
����� ���%1�0����&��
���%1�0����&������%1�
0����:�����%1�0����
Z������%1�0����Z������
%1�0����Z�

�������������7\J������

3ROLW\ND�L�VWUDWHJLD�EH]S�
QDURG���Z��SURI�
&LXSLĔVNL�$QGU]HM�=%�
����� ���%1�0����&��
���%1�0����&������%1�
0����:�����%1�0����
Z������%1�0����Z������
%1�0����Z�

������
������
7\G]��

=DJURĪHQLD
PLOLW��L
SR]DPLOLW�
ZVSyáF]HV
QHJR
ĞZLDWD��:��
GU�KDE�
1LHGĨZLHFN
L�5\V]DUG�
=%�������
��%1�0����
&������%1�
0����&��
���%1�0�
���:�����
%1�0����
Z������%1�
0����Z��
���%1�0�
���Z�

ĤU
RG

D
&

]
3

W
6

R
1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


